
Safe self-braking lifting/
installation jack 

Electrostatic powder coat paint
finish

Range of
Motion

 56” to 86” 

5th Safety support arm 

High quality swivel caster wheels 

Rubber grip steering handles 

Durable weather resisting
EVA foam pads

Lightweight and Portable Jeep Hardtop Removal System

How to use the
RollNJack

RollNJack
Assembly 

For more
products

please visit 

RollNJack Youtube
Channel 

PLEASE READ ALL INSTRUCTIONS AND WATCH RELATED VIDEOS BEFORE
ASSEMBLY AND USE OF THE ROLLNJACK

WARNING: 
1. Please take necessary caution when assembling the RollnJack lift
2. It is necessary to attach the 5th safety arm top post AFTER removing the hardtop (for 4 door
models only/not 2 door models).  FAILURE TO DO SO COULD RESULT IN INJURY
3. Make sure the wheels are locked and the RollnJack is in a secure space during storage
4. Do not store the RollnJack outdoors
5. Keep children away from the RollnJack lift when in storage
6. Use the RollnJack lift on level ground with a smooth surface. A slight incline or decline can be
acceptable. Store on level ground
7. NEVER – Push on the hardtop itself with your hands. All movement of the hardtop should be done
via the RollnJack. Make sure the RollnJack is 100% clear of your jeep back before wheeling out 

USAGE INSTRUCTIONS:

- Remove both (2) Jeep Freedom Panels
- Unscrew bolts on each side of hardtop near and above driver and passenger seats
- Open cargo door and lift rear window ajar completely
- Unscrew 6 Torx bolts that fasten hardtop in cargo area
- Detach electrical connection on driver side 
- Wheel the RollnJack into the center of the rear cargo area; make sure the 4 top posts clear under
window frame ridge. At this time the 5th support arm should not be attached to the RollnJack
- Turn the Easy Handle until the 4 top posts engage the hardtop and make sure they are secure.
Turn the Easy Handle until you lift enough to clear the entire Jeep structure. Note: the jack is a self
breaking lift mechanism so you can let go of the handle at any time and it will not drop/lower
- NOTE: The lifting posts can be arranged to different heights if your hardtop interior is not flat. It is
best that when you start to lift your hardtop that it is lifted evenly
- Lift enough so that the bottom of the alignment posts clear the rear gate when rolling the RollnJack
backwards
- The RollnJack can be stored with the Jeep top on, lower the height of the jack for extra stability

RETURN INSTRUCTIONS

If you have questions or would like to make a return/need replacement parts please contact us first, we

are more than happy to provide support. Leave us a message with your name and order number and

we will solve your issue and make things right! We will get back to you as soon as possible

We are best reached by email: help@rollnjack.com

For returns PLEASE attach the return sticker provided in this box

High quality knob nuts 



M10x90  (6X)M8x60  (8X)

M10-Lock  (6X)

Ø8x60-Pin  (5X)

M8-Flat (8X) M10-Flat  (6X)

M8-Lock (8X) M10-Nut  (6X)

M8-Nut (8X)

· If the holes are not aligned and you can't get the
bolts through, don't worry. Please troubleshoot by
rotating the jack handle. When rotating the jack
handle the holes inside the tube will align allowing
for you to properly insert the bolts.

· For an instructional video please scan the QR
code below or go to www.rollnjack.com to see the
troubleshooting video in the FAQ section.

Or

 Please scan me.

THE ROLLNJACK ASSEMBLY INSTRUCTION

LOCK SWIVEL WHEEL

SWIVEL WHEEL

OK

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
E

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
F

AutoCAD SHX Text
E

AutoCAD SHX Text
H

AutoCAD SHX Text
G

AutoCAD SHX Text
F

AutoCAD SHX Text
E

AutoCAD SHX Text
H

AutoCAD SHX Text
G

AutoCAD SHX Text
G

AutoCAD SHX Text
H

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
I

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
G

AutoCAD SHX Text
D

AutoCAD SHX Text
I

AutoCAD SHX Text
B

AutoCAD SHX Text
F

AutoCAD SHX Text
H



 

 

 

 

Warranty 
RollnJack warrants your product to be free from defects in metal tube materials and 

workmanship for lifetime from original date of shipment delivery to the address provided at 

checkout. All moving parts are covered under warranty for a period of twelve months. If you 

discover a defect in a product covered by this warranty, we will repair or replace the part(s) with 

new part(s). If repair is not possible, we will replace the item. 

 
 

Exclusions 
This warranty applies only to the original purchaser of the item. We do not cover warranty claims 

nor offer product warranties for items that were purchased by any persons other than the 

original purchaser. 

This warranty covers defects in manufacturing discovered while using the product as 

recommended by the manufacturer. The warranty does not cover loss from theft, nor does 

coverage extend to damage caused by misuse, abuse, unauthorized modification, improper 

storage conditions, weather, or natural disasters. This warranty does not cover parts subject to 

normal wear and tear replacement requirements, such as caster wheels worn from constant 

use. 

RollnJack will not be held liable to you or any other party for any damages incurred as a result 

from improper use and subsequent failure of this product. Damages excluded from this warranty 

include, but are not limited to: damage to vehicle, other equipment, dwelling, and incidental or 

consequential damages arising from the use, or inability to use this product. Should this product 

fail, your sole recourse shall be repair or replacement, as described in this warranty statement. 

In no way will RollnJack be liable for more than the purchase price of your product, not to 

exceed the current list price, and excluding tax and shipping and handling charges. 

RollnJack disclaims any other warranties, express or implied. 

 
 

How To Obtain Service Under This Warranty  

Please complete your warranty signup on our website at rollnjack.com/warranty  

 

or scan 

 

 

Your warranty is valid once you complete the form and you confirm that you are the original 

purchaser of the item. 


